PERARET7 V57— O

T—1 TI—1 m—1 N—1
RFEOEBOGREMICOVTHREELHAT |RELLEXICBRT DR - HHCOVWTHE |FERE, HEH, PHPHEMLERELTE (BEZER. BEZIOKEH. H)Fa15L44E
CEEW, BEEHZTILEEL, l:l%(ﬁfﬁ*é‘éﬁﬁ%ﬁ CRBICOVWTHEEZS A |ITOVWTHEEEHRA T AL,

TLEEW,
3 A (EEED)
hEPER
I—1 E& 2 (%) H#%| 1—1 EIZ () HE%| m—1 EZE (D) H#%| v—1 B &2 (%) i
DETHHER 0 DETHHR 0 DETHHR 0 DETLiER 0
QiR 0 Q@i R 0 Q@i R 0 Q¥R 0
(©F-3t1 0 (©F: 351 0 (©F: 311 0 (©OF- 351 0
@ROFH 0 @OOTH 0 @OOTH 0 @OFH 0
®LTHLFRM 0 ®LTHTRH 0 ®LTHFRH 0 ®LTELFH 0
®FH 0 ©TH 0 ©TH 0 ®FH 0
it 0 it 0 it 0 it 0
FAUBERR
I—1 EIE 2 (%) #E| 1—1 EIZE () | m—1 EIZE () HH| v—1 EIZE (%) 5
DETHHER 0 0 DETHLHER 0 0 DETHLHER 0 0 DETHHER 0 0
QPYHE 100 1 QPYHRE 0 0 QPVYHR 0 0 QPviHEE 0 0
(O 51 0 0 (©F: 51 100 1 [©F:35] 100 1 & 100 1
@POTiH 0 0 @PPOTHE 0 0 @BPOTHE 0 0 @PTiE 0 0
OLTHFHE 0 0 ®LTHRE 0 0 ®LTHRE 0 0 BETHFH 0 0
©®TH 0 0 ©T 8 0 0 ©FH 0 0 BZ:: 0 0
5t 1 &t 1 &t 1 &t !
EEPER
I—1 EI& = (%) H#%| 1—1 EIZ = () HH| m—1 EIZE () H#%| v—1 B &2 (%) i
DETHHER 0 0 DETLHR 0 0 DETLHR 0 0 DETEHHER 0 0
QPO R 100 1 Q@i R 0 0 Q@i R 0 0 Q¥R 100 1
(©F:¢51 0 0 (©F: 311 0 0 @& 100 1 (©F: 351 0 0
@PPFiE 0 0 @PPTHE 0 0 @PPOTHE 0 0 @POFiE 0 0
®LTLFH 0 0 ®LTLRHE 0 0 ®LTLRHE 0 0 ®ETHFH 0 0
@TBB 0 0 ®FH 100 1 ®FH 0 0 ®FH 0 0
1 it 1 it 1 &t 1
73>zﬁ#lm
E1EE (%) #E| 1—1 EIEE () | m—1 EIZE () HH| v—1 EIEE (%) "
DETHHER 0 DETHHE 0 DETHHE 0 DETHHER 0
QPYHE 0 QPVYHE 0 QPYHE 0 QYR 0
OEi&E 0 ©F$:1 0 ©F$:1 0 (©F=$¢1 0
@POTiE 0 @BOTE 0 @BPOTE 0 @PTiE 0
BLTHFE 0 ®LTHRE 0 ®LTHRE 0 BETHFHE 0
©TBB 0 ©FH 0 ©TH 0 ®F 8 0
0 it 0 it 0 it 0
7% - &gmmu
I—1 [EI& = (%) H#%| 1—1 EIZ = () H#| m—1 EIZ = () H#%| v—1 B &2 (%) R
DETLHR 50 1 DETLHR 100 2 DETLHR 0 0 DETEHHER 100 2
Q@R 50 1 Q@R 0 0 Q@R 100 2 Q¥R 0 0
(O 351 0 0 [©F=3¢:1 0 0 [©F=3¢:1 0 0 (=351 0 0
@POTiE 0 0 @PPTH 0 0 @PPTHE 0 0 @PROFiE 0 0
®LTHLFM 0 0 ®LTHTRH 0 0 ®LTHFH 0 0 ®LTHLFM 0 0
@a-a)q 0 0 ®FHA 0 0 ®FH 0 0 ®F8 0 0
2 Fi 2 &t 2 &t 2
-I-mm@!ﬁ*lﬁ)
E1EE (%) #E| 1—1 EIEE () B3| m—1 EIZE () HH| v—1 EIEE (%) "
DETHHR 50 1 DETHHR 50 1 DETHHR 50 1 DETHHER 50 1
QYR 50 1 QYR 50 1 QPVYHE 0 0 QPviHE 0 0
(©F: 1 0 0 (O35 0 0 [OF351 50 1 (©F= ¢t 50 1
@rOTiH 0 0 @ PTH 0 0 @PTH 0 0 @OOFE 0 0
®ETHFH 0 0 GLTHLTH 0 0 GLTHLFH 0 0 ®ETHFH 0 0
©TH 0 0 ©7TH 0 0 ©7TH 0 0 ®T8 0 0
st 2 i 2 &t 2 &t 2
BABREEER 1 F6H
I—1 EI& = (%) H#%| 1—1 B &= () HE| m—1 EI& = () H#%| v—1 B &= (%) R
DETHimR 0 0 DETHmR 0 0 DETHEmR 0 0 DTz 0 0
@bbﬁ& 50 1 @bb‘ﬁﬂ 0 0 @m‘sﬁﬂ 0 0 QPR 50 1
50 1 100 2 50 1 O3 0 0
@«b«bxﬁ 0 0 @\b\wﬁ 0 0 @mwrﬁ 50 1 @PFiE 50 1
®LTHLFRM 0 0 ®LTHLTRHE 0 0 ®LTHLFRHE 0 0 ®LTHLRM 0 0
@TEB 0 0 ®FH 0 0 ®©FB 0 0 ©F 8 0 0
2 it 2 Bt 2 it 2
%ofm*ﬁ*m)
EIEE (%) HE| 1—1 EIE=E () W3 m—1 EIE=E () HH| v—1 EIEE (%) HH
DETHHER 100 2 DETHLHER 50 1 DETHLHER 0 0 DETHHER 50 1
QYR 0 0 QPR 50 1 QPYHE 0 0 @Yz 0 0
(©F:¢51 0 0 [©F=3¢:1 0 0 [©F3¢:1 50 1 ©F:3:1 50 1
@OOTiH 0 0 @BOTE 0 0 @BOTE 0 0 @OTiE 0 0
OLTHFH 0 0 ®ETHRE 0 0 QL THRE 50 1 ®LTHFH 0 0
®TH 0 0 ©7T 8 0 0 ©FH 0 0 ®FH 0 0
5t 2 i 2 &t 2 &t 2
2
I—1 EI& = (%) H#%| 1—1 EI &= (h) HE| m—1 EI &= (h) H#%| v—1 EI& = (h) i
DETHimR 40 4 DETHmR 40 4 DETHEmR 10 1 DTz 40 4
@\b\bﬁﬂ 50 5 @\bb‘ﬁﬂ 20 2 @b\b‘ﬁﬂ 20 2 QPR 20 2
10 1 30 3 50 5 O3 30 3
@«b«b?ﬁ 0 0 @\b\wﬁ 0 0 @\b\brﬁ 10 1 @OTiE 10 1
®LTHLFRM 0 0 ®LTHTE 0 0 ®LTHLTRE 10 1 ®LTHLRM 0 0
®FH 0 0 ®FH 10 1 ®FH 0 0 ®FH 0 0
it 10 it 10 it 10 it 10




